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1. Indicate in detail how the following can be tested. The younger
generation in Mexico perceive government officials as both corrupt and
unpatriotic and will therefore not vote in the elections this year. 50  use
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2. Rana claims that the strike of late November was caused by the government’s failure to

fulfill a promise made to workers the preceding year. How could you be sure that her
explanation was correct? 10
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3. What is an appropriate methodology for studying whether participation in the intifada
has any lasting effects on those who were actively involved? 10
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4. How might the nominal definition of a concept be different from the real definition?
10
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5. Why ar¢'interchangeable indicators important in measuring a concept? 10 Nv-m’!’-lc%
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6. Indicate if there are problems with the followin
and if so, what they are. 10

A. “All Lebanese were armed during the civil war.”
wa%ml.'w becewmse nob all leleese tramol ar me |

g statements made by social scientists
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